Manitoba Government New Hires - October 1, 2023 - March 31, 2024

	int New Aires - October		- IVIAI			
Position Title	Pay Scale Group	Count		Salary		Total Cost
Accounting Clerk 1	AK1	1	\$	46,016	\$	46,016
Accounting Clerk 2	AK2	1	\$	52,749	\$	52,749
Admin Analyst	AAN	2	\$	64,342	\$	128,684
Admin Assist Premier	ATP	1	\$	74,347	\$	74,347
Admin Officer 1	AO1	4	\$	52,900	\$	211,600
Admin Officer 2	AO2	12	\$	58,839	\$	706,068
Admin Officer 3	XO3	3	\$	62,092	\$	186,276
Admin Officer 4	XO4	1	\$	70,716	\$	70,716
Admin Secretary 2	AY2	2	\$	39,074	\$	78,148
Admin Secretary 3	AY3	42	\$	44,540	\$	1,870,680
Admin Secretary 4	AY4	9	\$	49,987	\$	449,883
Agrologist 3	G3	1	\$	72,814	\$	72,814
Agrologist 4	G4	1	\$	78,386	\$	78,386
Airport Equip Op 1	AQ1	4	\$	41,802	\$	167,208
Airport Manager 1	RM1	1	\$	53,677	\$	53,677
Apprenticeship Training C	ATC	1	\$	58,857	\$	58,857
Assessment Officer 1	AS1	1	\$	42,290	\$	42,290
Assessment Officer 2	AS2	3	\$	49,420	\$	148,260
Asst Fire Commisnr 3	AF3	2	\$	64,418	\$	128,836
Attorney 1	BB1	1	\$	80,191	\$	80,191
Audit Accountant 2	AN2	1	\$	67,444	\$	67,444
Audit Mgr 1	AZ1	1	\$	78,754	\$	78,754
Audit Spvr 2	AX2	1	\$	69,222	\$	69,222
Auto Equip Merch	AEM	1	\$	54,971	\$	54,971
Biologist 2	BL2	2	\$	68,932	\$	137,864
Boat Mate	BMT	1	\$	41,405	\$	41,405
Building Ser Wrkr 1	BW1	6	\$	36,793	\$	220,758
Business Analyst 1	BA1	1	\$	64,342	\$	64,342
Business Analyst 2	BA2	2	\$	67,217	\$	134,434
Business Analyst 4	BA4	1	\$	89,308	\$	89,308
Clerk 2	CL2	5	\$	36,729	\$	183,645
Clerk 3	CL3	87	\$	44,654	\$	3,884,898
Clerk 4	CL4	17	\$	52,427	\$	891,259
Clerk of Court 1	CC1	4	\$	45,770	\$	183,080
Clerk of Court 1	CC2	8	\$	47,699	\$	381,592
Clerk of Court 2	CC3	2	\$	50,139	\$	100,278
Clerk of Court 4	CC4	2	\$	53,600	\$	100,278
	CT2	9	\$		۶ \$	
Clerk Typist 2				36,729		330,561
Clerk Typist 3	CT3	1	\$	43,387	\$	43,387
Compliance Off 2	CI2	3	\$ \$	52,030	\$ ¢	52,030
Construction Worker	CWR			42,637	\$	127,911
Correctional Off 1	OC1	48	\$	64,216	\$	3,082,368
Curriculum Consult	CRC	3	\$	79,114	\$	237,342
Dep Coord Emo	DCM	2	\$	69,090	\$	138,180
Deputy Minister 3	DR3	1	\$	160,478	\$	160,478

Eco Dev Consultant 2	IC2	1	\$	70,716	\$	70,716
Eco Dev Consultant 3	IC3	1	\$	76,050	\$	76,050
Econ Res Analyst 3	ER3	1	\$	70,716	\$	70,716
Econ Res Analyst 4	ER4	1	\$	82,121	\$	82,121
Employ Stand Off 2	EP2	1	\$	57,344	\$	57,344
Engineer 1	EG1	6	\$	52,503	\$	315,018
Engineer 2	EG2	2	\$	66,480	\$	132,960
Engineer 3	EG3	3	\$	76,730	\$	230,190
Engineering Aid 2	EA2	1	\$	45,830	\$	45,830
Engineering Aid 4	EA4	4	\$	54,699	\$	218,796
Environmental Engineer 2	EE2	1	\$	76,730	\$	76,730
Environmental Off 1	EO1	8	\$	47,983	\$	383,864
Environmental Off 2	EO2	12	\$	54,980	\$	659,760
Environmental Off 3	EO3	1	\$	63,321	\$	63,321
Estates Officer 2	ES2	3	\$	53,032	\$	159,096
Executive Officer 2	EX2	1	\$	124,486	\$	124,486
Financial Officer 2	FI2	3	\$	56,512	\$	169,536
Financial Officer 3	FI3	6	\$	64,115	\$	384,690
Financial Officer 4	FI4	6	\$	70,432	\$	422,592
Financial Officer 5	FI5	1	\$	73,288	\$	73,288
Financial Officer 6	FI6	1	\$	79,530	\$	79,530
Gardener 1	GR1	1	\$	41,405	\$	41,405
Heritage Res Off 2	HR2	2	\$	54,489	\$	108,978
Human Rights Off 1	H01	1	\$	56,683	\$	56,683
Info Technologist 2	IS2	6	\$ \$	65,874	\$ \$	395,244
Info Technologist 3 Info Technologist 4	IS3 IS4	3 1	\$	72,040	\$	216,120
Insp Mech, Codes & Standa	IMS	1	\$	77,808	\$	77,808 70,393
Judicial Assist 1	JA1	1	\$	70,393 53,675	\$	53,675
Juvenile Counselr 1	JC1	19	\$	64,216	\$	1,220,104
Lab Technologist 3			\$	52,938	\$	52,938
Labourer	LB3 LAB	32	\$	38,880	\$	1,244,160
Legal Counsel 1	LF1	4	\$	88,381	\$	353,524
Legal Counsel 2	LF2	2	\$	120,855	\$	241,710
Legal Counsel 3	LF3	2	\$	142,964	\$	285,928
Maint Assistant	MAN	5	\$	44,244	\$	221,220
Maint Tradespersn 3	MM3	2	\$	64,988	\$	129,976
Management Analyst 1	MB1	1	\$	49,477	\$	49,477
Management Analyst 3	MB3	7	\$	76,447	\$	535,129
Mech Equip Mech 1	ME1	1	\$	51,924	\$	51,924
Mechanic 1	MH1	1	\$	48,104	\$	48,104
Media Specialist 1	MS1	2	\$	67,104	\$	134,208
Medical Officer 3	MF3	1	\$	326,821	\$	326,821
Mines Inspector 3	MI3	2	\$	62,886	\$	125,772
Motor Carrier Enforce Off	MC1	2	\$	52,030	\$	104,060
Nurse 1	NN1	5	\$	79,070	\$	395,350
Nurse 2	NN2	1	\$	82,063	\$	82,063

Operator 1	OR1	3	\$	42,073	\$	126,219
Operator 2	OR2	1	\$	44,369	\$	44,369
Park Works Spvr 3	PK3	1	\$	48,522	\$	48,522
Planner 5	LP5	2	\$	83,728	\$	167,456
Planning Consultant	PCO	2	\$	82,121	\$	164,242
Planning Prog An 1	PM1	2	\$	49,496	\$	98,992
Planning Prog An 2	PM2	41	\$	64,342	\$	2,638,022
Planning Prog An 3	PM3	19	\$	70,716	\$	1,343,604
Planning Prog An 4	PM4	7	\$	79,038	\$	553,266
Probation Officer 3	PB3	1	\$	60,635	\$	60,635
Professional Off 2	P2	7	\$	57,269	\$	400,883
Professional Off 3	P3	2	\$	65,156	\$	130,312
Professional Off 5	P5	4	\$	70,527	\$	282,108
Professional Off 8	P8	1	\$	80,173	\$	80,173
Professional Off 9	P9	1	\$	83,218	\$	83,218
Professional Off10	P10	1	\$	90,197	\$	
	PCD	2	\$		\$	90,197
Program Coord Educ				84,598		169,196
Property Apprais 2	PS2	1	\$	56,512	\$	56,512
Psychologist 2	PY2	2	\$	73,591	\$	147,182
Psychologist 3	PY3	1	\$	95,341	\$	95,341
Purchasing Agent 1	PA1	1	\$	49,496	\$	49,496
Resource Officer 3	RO3	1	\$	63,757	\$	63,757
Resource Planner 2	RP2	3	\$	64,342	\$	193,026
Resource Techn 2	RS2	2	\$	46,205	\$	92,410
Scientist 2	SX2	2	\$	80,400	\$	160,800
Security Officer 1	BG	5	\$	40,842	\$	204,210
Senior Manager 1	XM1	1	\$	96,551	\$	96,551
Senior Manager 2	XM2	1	\$	104,079	\$	104,079
Senior Manager 3	XM3	1	\$	107,937	\$	107,937
Sheriffs Officer 1	SO1	11	\$	45,543	\$	500,973
Sheriffs Officer 2	SO2	2	\$	48,531	\$	97,062
Signals Tech 1	SG1	1	\$	68,098	\$	68,098
Social Services Worker 1	SP1	12	\$	47,964	\$	575,568
Social Services Worker 2	SP2	7	\$	50,403	\$	352,821
Social Services Worker 3	SP3	18	\$	55,056	\$	991,008
Social Services Worker 4	SP4	21	\$	60,673	\$	1,274,133
Social Services Worker 5	SP5	3	\$	70,092	\$	210,276
Sr Engineering Manager 2	EM2	1	\$	112,627	\$	112,627
Sr Legal Officer 3	LE3	1	\$	159,645	\$	159,645
Statistical Analyst 2	SS2	3	\$	67,104	\$	201,312
Statistical Analyst 3	SS3	4	\$	73,288	\$	293,152
Storekeeper 2	ST2	1	\$	43,406	\$	43,406
Stores Clerk 1	SC1	1	\$	34,743	\$	34,743
Student Auditor 2	SA2	2	\$	43,387	\$	86,774
Student Auditor 3	SA3	1	\$	46,148	\$	46,148
Switchboard Oper 2	SW2	1	\$	36,729	\$	36,729
Systems Analyst 2	SL2	2	\$	53,846	\$	107,692
Systems Analyst 2	JLZ	2	Ą	33,640	Ą	107,092

Tech Eng Off 1	TE1	5	\$ 62,943	\$	314,715
Tech Eng Off 2	TE2	2	\$ 68,953	\$	137,906
Trades Helper	TRH	1	\$ 40,571	\$	40,571
Training Development Offi	TDO	1	\$ 67,104	\$	67,104
Translator 2	TS2	1	\$ 76,314	\$	76,314
Vet Medical Off 4	VT4	1	\$ 107,019	\$	107,019
Total:		694		\$ 3	9,876,316.00